
(/sd ? xhf/df_
n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f ePsf]

qm=;+= ljj/0f o; q}dfl;ssf] 

cGTodf

cl3Nnf] q}dfl;ssf] cGTodf cl3Nnf] cf=j=sf] 

;DalGwt q}dfl;ssf] 

cGTodf

1 >f]t -!=! b]lv !=$ ;Dd_ 9,193,547    8,803,295        7,686,335     

1=1 r'Qmf k"FhL      501,337          501,337      401,070 

1=2 hu]8f tyf sf]if      301,192           77,484      107,718 

1=3 hLjg aLdf sf]if    8,391,018        8,224,474     7,177,548 

1=4 ltg{ afFsL bL3{sflng C0f tyf ;fk6L        -               -           -   

2 pkof]u -@=! b]lv @=^ ;Dd_    9,193,547        8,803,295     7,686,335 

2=1 l:y/ ;DkQL -v'b_     606,304          602,237      541,795 

2=2 bL3{sflng nufgL tyf sh{f     3,513,712         2,359,216     2,344,718 

2=3 aLdfn]vsf] lwtf]df shf{      570,160          520,488      404,532 

2=4 v'b rfn' ;DkQL -#_ -$_    4,486,011         5,300,898     4,365,548 

2=5 ckn]vg jf ;dfof]hg x'g jf+sL ljljw vr{x?       17,360           20,455       29,743 

2=6 gfkmf gf]S;fg lx;fajf6 ;f/]sf] gf]S;fg

v'b rfn' ;DkQLsf laa/0f  

rfn' ;DkQLsf] ljj/0f

3 Rffn' ;DkQL shf{ tyf k]ZsLx? -#=! b]lv #=#
;Dd_

   5,226,283        5,944,759     5,069,625 

3=1 gub tyf a}+s df}Hbft      211,178          154,604      216,689 

3=2 cNksflng nufgL    4,464,269         5,099,154     4,433,294 

3=3 cGo ;DkQL     550,836          691,000      419,642 

4 rfn' bfloTj tyf Joj:Yffx? -$=! b]lv $=$ ;Dd_     740,272          643,860      704,077 

4=1 rfn' bfloTj     155,034          289,196      228,254 

4=2 c;dfKt hf]lvd jfkt Joj:yf     186,495          190,977      185,254 

4=3 e'QmfgL x'g afFsL bfjL afkt Joj:yf     103,748          102,763      94,054 

4=4 cGo Aoj:yf     294,995           60,923      196,516 

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

cf=j=2069÷070 sf]]] rf}yf] q}dfl;s sf] ljlQo ljj/)f

jf;nft



n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f ePsf]

qm=;+= ljj/0f o; q}dfl;ssf] 

cGTodf

cl3Nnf] q}dfl;ssf] cGTodf cl3Nnf] cf=j=sf] 

;DalGwt q}dfl;ssf] 

cGTodf

1 cfDbfgL -!=! b]lv !=% ;Dd_     345,566          84,785      146,966 

1=1 cfo Joo lx;faaf6 ;f/]sf]      100,586           59,566      112,647 

1=2 hLjg aLdf sf]ifaf6 ;f/]sf]     210,058             -           -   

1=3 nufgL shf{ tyf cGoaf6 cfo      34,922           25,220       32,810 

1=4 Joj:yf lkmtf{        -               -          1,509 

1=5 cGo cfDbfgL -ljj/0f v'nfpg]_        -               -            0 

2 vr{ -@=! b]lv @=* ;Dd_      51,825           14,752       50,637 

2=1 Joj:yfkg vr{      16,574           10,754       38,296 

2=2 ckn]vg vr{        -               -           -   

2=3 cGo vr{x?        628             328         178 

2=4 gf]S;fgLsf] nflu Joj:yf        -               -         2,494 

2=5 sd{rf/L cfjf; Aoj:yf        -               -           -   

2=6 sd{rf/L af]g; Joj:yf      29,851             -          9,636 

2=7 cfos/       4,771            3,671          33 

2=8 hLjg aLdf sf]ifdf ;f/]sf]        -               -           -   

3 v"b gfkmf ÷-gf]S;fg_ -!–@_     293,741           70,033       96,330 

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

cf=j=2069÷070 sf] rf}yf] q}dfl;ssf] ljlQo ljj/)f

gfkmf gf]S;fg lx;fa



n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f ePsf]

qm=;+= ljj/0f o; q}dfl;ssf] 

cGTodf

cl3Nnf] q}dfl;ssf] cGTodf cl3Nnf] cf=j=sf] 

;DalGwt q}dfl;ssf] 

cGTodf

1 cfo -!=! b]lv !=& ;Dd_    2,994,801         2,157,436     2,864,515 

1=1 aLdfz'Ns -v"b_    2,007,434         1,399,563     1,903,315 

1=2 k'gaL{df sldzg cfo      106,516           54,779      134,471 

1=3 nufgL, shf{ tyf cGoaf6 cfo      562,355          389,771      575,530 

1=4 aLdfn]vsf] lwtf]df shf{af6 cfo      42,762           39,037       37,303 

1=5 cGo k|ToIf cfo       8,831            7,383        6,758 

1=6 q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL afkt
Joj:yf

     81,649           81,649       76,386 

1=7 q}dfl;ssf] z'?sf] c;dfKt hf]]lvd afkt Joj:yf     185,254          185,254      130,753 

2 Joo -@=! b]lv @=!) ;Dd_    1,470,687        1,050,944     1,450,706 

2=1 bfjL e'QmfgL -v'b_      703,195          439,512      539,453 

2=2 clestf{ sldzg      193,685          129,765      212,810 

2=3 :jf:Yo k/LIf0f z'Ns       2,204            1,249        2,870 

2=4 k'gaL{df sldzg vr{        -               -           -   

2=5 ;]jf z'Ns -v'b_      20,574           13,996       19,033 

2=6 cGo k|ToIf vr{       4,172            1,547         -   

2=7 Joj:yfkg vr{     149,170           96,782      344,660 

2=8 cfos/     107,443           74,353       64,977 

2=9 q}dfl;ssf] cGTodf e'QmfgL x'g afFsL bfjL afkt
Joj:yf

    103,748          102,763       81,649 

2=10 q}dfl;ssf] cGTodf c;dfKt hf]lvd afkt Joj:yf     186,495          190,977      185,254 

3 art -!-@_    1,524,114         1,106,492     1,413,808 

3=1 hLjg aLdf sf]ifdf ;f/]sf] art    1,423,528         1,106,492     1,413,808 

3=2 gfkmf gf]S;fg lx;fadf ;f/]sf] art     100,586           59,566      112,647 

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

cf=j=2069÷070 sf]] rf}yf] q}dfl;ssf] ljlQo ljj/)f

Plss[t cfo Aoo lx;fa 



n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f ePsf]

qm=;+= ljj/0f o; q}dfl;ssf] 

cGTodf

cl3Nnf] q}dfl;ssf]   cGTodf cl3Nnf] cf=j=sf] 

;DalGwt q}dfl;ssf] 

cGTodf

1 aLdfz'Ns cfh{g -s'n_    2,244,748         1,515,329      2,131,033 

2 s"n sfod /x]sf] aLdfn]vsf] ;+Vof      258,376          249,049      229,869 

3 3f]lift d"gfkmf -af]g;_ sf] b/ - @)^&.)$.)! ;Dd
@)^(.)#.#!_

 60 b]vL 75  60 b]vL 75  60 b]vL 75 

4 cGtl/d d"gfkmf -af]g;_ sf] b/ -====== b]lv =====
;Dd_

 60 b]vL 75           56        56 

5 s"nbfjL e'QmfgL /sd     789,215          523,248      603,619 

6 s"nbfjL e'QmfgL /sd ;+Vofdf       8,962            6,258        6,873 

7 e'QmfgL x'g afFsL bfjL /sd      90,215           91,442       81,649 

cGo ljj/)f

gf]^ M n]vfk/LIf)f gePsf c+sx? n]vfkl/If)f kZrft x]/ km]/ x"g ;Sg]% .


